Online supplementary resource Detailed equations of the models used for the analyses

Main model:
(EL):

log()ls,a,c,y) = log(pops,a,c,y) + as,a,c + (.Bl,c + ﬁz,a + 33,5) X t()’) + Ye X UnemployVary

European sensitivity analyses:

(E2):
log(/ls,ayc,y) = log(pops,a,cyy) t+agq.t+ (ﬁ1,c + B0t [)’3,5) Xt(y) + y, X UnemployVar, + 6. X Crisis
(E3):
10g(Asa.cy) =108(PODsacy) + Asac + Ve X UnemployVar,

French sensitivity analyses:

(F1):

log(ls,a,r,y) = log(pops,a,r,y) + as,a,r + (:Bl,r + ﬁz,a + BS,S) X t(}’) + y X Unemployvarr,y

(F2):

log(ls,a,r,q) = log(pops,a,r,q) + as,a,r + a’r,q + (ﬁl,r + ﬁz,a + ﬁS,s) X t(}’: Q) + y X Unemployvarr,q

(F3):

lOg(As,a,r,q) = lOg(pops,a,r,q) + as,a,r + a’r,q + (Bl,r + .Bz,a + ,83,5) X t(y' CI) + Y X Unemployvarr,qt(y‘q_i)

A: expected value of the number of suicides

pop: population count

a, B, 7, 0. coefficients to be estimated by the model

Crisis: dummy variable taking the value 0 for 2000-2007 and 1 for 2008-2010

UnemployVar: variation of unemployment rate compared to 2000 and multiplied by 10

Unemployment rate,

U loyVar, = 10 x
nemployVar, Unemployment rate, g,

S: Sex Linear time trends:
a: age group
c: country ty) =y
: year
Z: ?/egion t,q) =y + qT_l
qg: quarter
Time lag:

q-1-i
4

tyv,q—)=y+



